

County Distribution Detail Report through 04/04/2022

Aurora

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|----------------------|-------------------|----------------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 974 | 1,942 | 11 | 2,927 | \$3,658.75 | \$87.13 | \$3,571.62 | 0.70 | \$2,500.13 |
| | | | | | | | Entity To Adjustm | | \$2,501.01 \$0.00 |
| | | | | | | | Total An | | \$2,501.01 |
| | | | | | | | | | |

Beadle

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 20 | 8 | 0 | 28 | \$35.00 | \$0.00 | \$35.00 | 0.70 | \$24.50 |
| 2/2022 | 3,221 | 10,419 | 379 | 14,019 | \$17,523.75 | \$369.50 | \$17,154.25 | 0.70 | \$12,007.98 |
| 9/2021 | 22 | 0 | 0 | 22 | \$27.50 | \$0.00 | \$27.50 | 0.70 | \$19.25 |
| 10/2021 | 17 | 0 | 0 | 17 | \$21.25 | \$0.00 | \$21.25 | 0.70 | \$14.88 |
| 11/2021 | 15 | 0 | 0 | 15 | \$18.75 | \$0.00 | \$18.75 | 0.70 | \$13.13 |
| 12/2021 | 18 | 0 | 0 | 18 | \$22.50 | \$0.00 | \$22.50 | 0.70 | \$15.75 |
| | | | | | | | Entity Tota | al: | \$12,095.49 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$12,095.49 |
| Bennett | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2022 | 865 | 1,167 | 6 | 2,038 | \$2,547.50 | \$56.39 | \$2,491.11 | 0.70 | \$1,743.78 |
| | | | | | | | Entity Tota | I: | \$1,743.78 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,743.78 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 1,645 | 3,958 | 14 | 5,617 | \$7,021.25 | \$140.98 | \$6,880.27 | 0.70 | \$4,816.19 |
| | | | | | | | Entity Tota | 1: | \$4,817.07 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,817.07 |
| Prockings | | | | | | | | | |

Brookings

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 21 | 0 | 21 | \$26.25 | \$0.00 | \$26.25 | 0.70 | \$18.38 |
| 2/2022 | 10,439 | 21,287 | 248 | 31,974 | \$39,967.50 | \$822.83 | \$39,144.67 | 0.70 | \$27,401.27 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity Tot | al: | \$27,421.41 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$27,421.41 |

Brown

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|----------------|-----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 8 | 30 | 0 | 38 | \$47.50 | \$0.00 | \$47.50 | 0.70 | \$33.25 |
| 2/2022 | 8,354 | 26,266 | 578 | 35,198 | \$43,997.50 | \$955.64 | \$43,041.86 | 0.70 | \$30,129.30 |
| 8/2021 | 3 | 0 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 9/2021 | 10 | 0 | 0 | 10 | \$12.50 | \$0.00 | \$12.50 | 0.70 | \$8.75 |
| 10/2021 | 10 | 0 | 0 | 10 | \$12.50 | \$0.00 | \$12.50 | 0.70 | \$8.75 |
| 11/2021 | 10 | 0 | 0 | 10 | \$12.50 | \$0.00 | \$12.50 | 0.70 | \$8.75 |
| 12/2021 | 6 | 0 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| | | | | | | | Entity Total | : | \$30,196.68 |
| | | | | | | | Adjustment | :: | \$0.00 |
| | | | | | | | Total Amou | int: | \$30,196.68 |
| Brule | | | | | | | | | |
| Reporting Period | Telecom I ines | Wireless I ines | VOIP | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity | Entity Amount |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-----------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 4 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |

| 2/2022 | 2,073 | 3,738 | 77 | 5,888 | \$7,360.00 | \$149.76 | \$7,210.24 | 0.70 | \$5,047.17 |
|--|----------------------|-----------------------|----------------------------|-----------------------|--|--|--|---|---|
| | | | | | | | Entity Tota | I: | \$5,050.67 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$5,050.67 |
| Buffalo | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2022 | 509 | 477 | 80 | 1,066 | \$1,332.50 | \$42.94 | \$1,289.56 | 0.70 | \$902.69 |
| | | | | | | | Entity Tota | l: | \$902.69 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$902.69 |
| Butte | | | | | | | | | |
| | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| Reporting Period | Telecom Lines | Wireless Lines | | Total Lines | Surcharge \$37.50 | Admin Fee \$0.00 | Net Surcharge \$37.50 | | Entity Amount \$26.25 |
| | | | Lines | | - | | _ | Percent | - |
| 1/2022 | 1 | 29 | Lines 0 | 30 | \$37.50 | \$0.00 | \$37.50 | Percent 0.70 | \$26.25 |
| 1/2022 2/2022 | 1 2,097 | 29 6,515 | Lines 0 47 | 30 8,659 | \$37.50 \$10,823.75 | \$0.00 \$230.63 | \$37.50 \$10,593.12 | Percent 0.70 0.70 | \$26.25 \$7,415.18 |
| 1/2022 2/2022 9/2021 | 1 2,097 1 | 29 6,515 0 | Lines 0 47 0 | 30 8,659 1 | \$37.50 \$10,823.75 \$1.25 | \$0.00 \$230.63 \$0.00 | \$37.50 \$10,593.12 \$1.25 | Percent 0.70 0.70 0.70 | \$26.25 \$7,415.18 \$0.88 |
| 1/2022 2/2022 9/2021 10/2021 | 1 2,097 1 1 | 29 6,515 0 0 | Lines 0 47 0 0 | 30 8,659 1 1 | \$37.50 \$10,823.75 \$1.25 \$1.25 | \$0.00 \$230.63 \$0.00 \$0.00 | \$37.50 \$10,593.12 \$1.25 \$1.25 | Percent 0.70 0.70 0.70 0.70 0.70 | \$26.25 \$7,415.18 \$0.88 \$0.88 |
| 1/2022 2/2022 9/2021 10/2021 | 1 2,097 1 1 | 29 6,515 0 0 | Lines 0 47 0 0 | 30 8,659 1 1 | \$37.50 \$10,823.75 \$1.25 \$1.25 | \$0.00 \$230.63 \$0.00 \$0.00 | \$37.50 \$10,593.12 \$1.25 \$1.25 \$1.25 | Percent 0.70 0.70 0.70 0.70 0.70 1: | \$26.25 \$7,415.18 \$0.88 \$0.88 \$0.88 |
| 1/2022 2/2022 9/2021 10/2021 | 1 2,097 1 1 | 29 6,515 0 0 | Lines 0 47 0 0 | 30 8,659 1 1 | \$37.50 \$10,823.75 \$1.25 \$1.25 | \$0.00 \$230.63 \$0.00 \$0.00 | \$37.50 \$10,593.12 \$1.25 \$1.25 \$1.25 Entity Tota | Percent 0.70 0.70 0.70 0.70 0.70 1: t: | \$26.25 \$7,415.18 \$0.88 \$0.88 \$0.88 \$0.88 |
| 1/2022 2/2022 9/2021 10/2021 | 1 2,097 1 1 | 29 6,515 0 0 | Lines 0 47 0 0 | 30 8,659 1 1 | \$37.50 \$10,823.75 \$1.25 \$1.25 | \$0.00 \$230.63 \$0.00 \$0.00 | \$37.50 \$10,593.12 \$1.25 \$1.25 \$1.25 Entity Tota Adjustmen | Percent 0.70 0.70 0.70 0.70 0.70 1: t: | \$26.25 \$7,415.18 \$0.88 \$0.88 \$0.88 \$0.88 \$7,444.07 \$0.00 |
| 1/2022 2/2022 9/2021 10/2021 12/2021 | 1 2,097 1 1 | 29 6,515 0 0 | Lines 0 47 0 0 | 30 8,659 1 1 | \$37.50 \$10,823.75 \$1.25 \$1.25 | \$0.00 \$230.63 \$0.00 \$0.00 | \$37.50 \$10,593.12 \$1.25 \$1.25 \$1.25 Entity Tota Adjustmen | Percent 0.70 0.70 0.70 0.70 0.70 1: t: | \$26.25 \$7,415.18 \$0.88 \$0.88 \$0.88 \$0.88 \$7,444.07 \$0.00 |

| Entity Total: | \$1,718.54 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$1,718.54 |

Charles Mix

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-----------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |

| 2/2022 | 2,398 | 5,451 | 25 | 7,874 | \$9,842.50 | \$198.70 | \$9,643.80 | 0.70 | \$6,750.66 |
|----------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Entity Tota | al: | \$6,752.41 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$6,752.41 |
| City of Box Elder, M | leade Co | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2022 | 260 | 2,902 | 116 | 3,278 | \$4,097.50 | \$81.67 | \$4,015.83 | 0.70 | \$2,811.08 |
| | | | | | | | Entity Tota | al: | \$2,811.08 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,811.08 |
| City of North Sioux | City, Uni | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2022 | 591 | 2,803 | 99 | 3,493 | \$4,366.25 | \$101.12 | \$4,265.13 | 0.70 | \$2,985.59 |
| | | | | | | | Entity Tota | al: | \$2,985.59 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,985.59 |
| City of Pierre, Hugh | es Co. | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2022 | 3,233 | 11,263 | 167 | 14,663 | \$18,328.75 | \$378.10 | \$17,950.65 | 0.70 | \$12,565.46 |
| | | | | | | | Entity Tota | al: | \$12,565.46 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$12,565.46 |
| City of Sioux Falls, | Lincoln (| | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2022 | 4,173 | 27,087 | 3,496 | 34,756 | \$43,445.00 | \$847.70 | \$42,597.30 | 0.70 | \$29,818.11 |
| | | | | | | | Entity Tota | al: | \$29,818.11 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | | | |

\$29,818.11

Total Amount:

Clark

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 1,144 | 2,279 | 41 | 3,464 | \$4,330.00 | \$93.70 | \$4,236.30 | 0.70 | \$2,965.41 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity Tot | al: | \$2,968.05 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$2,968.05 |

Clay

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 4 | 4 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 2/2022 | 1,541 | 7,581 | 264 | 9,386 | \$11,732.50 | \$253.27 | \$11,479.23 | 0.70 | \$8,035.46 |
| 8/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 11/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 12/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| | | | | | | | Entity Tota | al: | \$8,053.85 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$8,053.85 |

Codington

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 2 | 7 | 0 | 9 | \$11.25 | \$0.00 | \$11.25 | 0.70 | \$7.88 |
| 2/2022 | 6,303 | 18,921 | 535 | 25,759 | \$32,198.75 | \$676.56 | \$31,522.19 | 0.70 | \$22,065.53 |
| 9/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 10/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 11/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 12/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| | | | | | | | Entity Tot | al: | \$22,080.41 |

\$0.00

Adjustment:

Total Amount:

\$22,080.41

Corson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 6 | 7 | 0 | 13 | \$16.25 | \$0.00 | \$16.25 | 0.70 | \$11.38 |
| 2/2022 | 960 | 805 | 309 | 2,074 | \$2,592.50 | \$53.39 | \$2,539.11 | 0.70 | \$1,777.38 |
| 9/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 10/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 11/2021 | 8 | 0 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 12/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| | | | | | | | Entity Tot | al: | \$1,807.14 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$1,807.14 |

Custer

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 1 | 6 | 0 | 7 | \$8.75 | \$0.00 | \$8.75 | 0.70 | \$6.13 |
| 2/2022 | 2,961 | 6,042 | 65 | 9,068 | \$11,335.00 | \$249.17 | \$11,085.83 | 0.70 | \$7,760.08 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 11/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 12/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity Tota | al: | \$7,769.73 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$7,769.73 |
| Davison | | | | | | | | | |

Davison

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 3 | 3 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 2/2022 | 4,332 | 14,108 | 301 | 18,741 | \$23,426.25 | \$487.03 | \$22,939.22 | 0.70 | \$16,057.45 |
| 9/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 10/2021 | 3 | 0 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 11/2021 | 6 | 0 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 12/2021 | 3 | 0 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |

| | | | | | | | Entity Tota | l: | \$16,077.59 |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$16,077.59 |
| Day | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 1/2022 | 0 | 4 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 2/2022 | 1,730 | 3,541 | 60 | 5,331 | \$6,663.75 | \$133.83 | \$6,529.92 | 0.70 | \$4,570.94 |
| | | | | | | | Entity Tota | l: | \$4,574.44 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,574.44 |
| Deuel | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 1/2022 | 0 | 4 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 2/2022 | 1,482 | 2,954 | 83 | 4,519 | \$5,648.75 | \$119.98 | \$5,528.77 | 0.70 | \$3,870.14 |
| | | | | | | | Entity Tota | l: | \$3,873.64 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$3,873.64 |
| | | | | | | | | | |
| Douglas | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|-------------------------|-------------------|----------------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 1,069 | 2,143 | 15 | 3,227 | \$4,033.75 | \$84.36 | \$3,949.39 | 0.70 | \$2,764.57 |
| | | | | | | | Entity Tota Adjustme | | \$2,765.45 \$0.00 |

Edmunds

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 3 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 2/2022 | 1,111 | 2,839 | 52 | 4,002 | \$5,002.50 | \$99.94 | \$4,902.56 | 0.70 | \$3,431.79 |

Total Amount:

\$2,765.45

Adjustment:

\$0.00

Total Amount: \$3,434.42

Fall River

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|------------------------|-------------------|----------------------|
| 1/2022 | 0 | 11 | 0 | 11 | \$13.75 | \$0.00 | \$13.75 | 0.70 | \$9.63 |
| 2/2022 | 2,701 | 4,733 | 33 | 7,467 | \$9,333.75 | \$190.82 | \$9,142.93 | 0.70 | \$6,400.05 |
| | | | | | | | Entity Tot Adjustme | | \$6,409.68 \$0.00 |
| | | | | | | | Total Amo | | \$6,409.68 |

Faulk

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 675 | 1,470 | 27 | 2,172 | \$2,715.00 | \$55.55 | \$2,659.45 | 0.70 | \$1,861.62 |
| 9/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 10/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 11/2021 | 6 | 0 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 12/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| | | | | | | | | | |

| Entity Total: | \$1,873.87 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$1,873.87 |

Grant

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 1 | 4 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 2/2022 | 1,788 | 5,291 | 80 | 7,159 | \$8,948.75 | \$182.21 | \$8,766.54 | 0.70 | \$6,136.58 |
| 8/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 11/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 12/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | | | |

Entity Total: \$6,145.36

\$0.00

Adjustment:

Total Amount: \$6,145.36

Gregory

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 1,492 | 3,483 | 7 | 4,982 | \$6,227.50 | \$136.90 | \$6,090.60 | 0.70 | \$4,263.42 |
| | | | | | | | Entity Tota | | \$4,265.17 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,265.17 |

Haakon

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 935 | 1,286 | 6 | 2,227 | \$2,783.75 | \$55.85 | \$2,727.90 | 0.70 | \$1,909.53 |
| | | | | | | | Entity To | tal: | \$1,910.41 |
| | | | | | | | Adjustme | ent: | \$0.00 |
| | | | | | | | Total Am | ount: | \$1,910.41 |

Hamlin

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 7 | 0 | 7 | \$8.75 | \$0.00 | \$8.75 | 0.70 | \$6.13 |
| 2/2022 | 1,391 | 3,835 | 49 | 5,275 | \$6,593.75 | \$131.35 | \$6,462.40 | 0.70 | \$4,523.68 |
| | | | | | | | Entity Tota | al: | \$4,529.81 |

Total Amount: \$4,529.81

Hand

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 4 | 6 | 0 | 10 | \$12.50 | \$0.00 | \$12.50 | 0.70 | \$8.75 |
| 2/2022 | 953 | 2,587 | 31 | 3,571 | \$4,463.75 | \$98.24 | \$4,365.51 | 0.70 | \$3,055.86 |
| 8/2021 | 3 | 0 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 9/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 10/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 11/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |

| 12/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
|---------|---|---|---|---|--------|--------|---------------|------|------------|
| | | | | | | | Entity Total: | | \$3,079.49 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amount: | | \$3,079.49 |
| Hanson | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 8 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 2/2022 | 768 | 3,072 | 84 | 3,924 | \$4,905.00 | \$109.70 | \$4,795.30 | 0.70 | \$3,356.71 |
| | | | | | | | Entity Tota | al: | \$3,363.71 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$3,363.71 |

Harding

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 633 | 832 | 2 | 1,467 | \$1,833.75 | \$47.13 | \$1,786.62 | 0.70 | \$1,250.63 |

| Entity Total: | \$1,252.38 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$1,252.38 |

Hughes

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 22 | 15 | 0 | 37 | \$46.25 | \$0.00 | \$46.25 | 0.70 | \$32.38 |
| 2/2022 | 592 | 3,055 | 185 | 3,832 | \$4,790.00 | \$135.30 | \$4,654.70 | 0.70 | \$3,258.29 |
| 8/2021 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 9/2021 | 24 | 0 | 0 | 24 | \$30.00 | \$0.00 | \$30.00 | 0.70 | \$21.00 |
| 10/2021 | 21 | 0 | 0 | 21 | \$26.25 | \$0.00 | \$26.25 | 0.70 | \$18.38 |
| 11/2021 | 23 | 0 | 0 | 23 | \$28.75 | \$0.00 | \$28.75 | 0.70 | \$20.13 |
| 12/2021 | 24 | 0 | 0 | 24 | \$30.00 | \$0.00 | \$30.00 | 0.70 | \$21.00 |
| | | | | | | | Entity Tot | al: | \$3,372.93 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$3,372.93 |

Hutchinson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------------------------------|-------------------|------------------------------------|
| 1/2022 | 0 | 5 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 2/2022 | 2,562 | 5,097 | 41 | 7,700 | \$9,625.00 | \$196.12 | \$9,428.88 | 0.70 | \$6,600.22 |
| | | | | | | | Entity Tota Adjustmer Total Amo | it: | \$6,604.60 \$0.00 \$6,604.60 |

Hyde

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2022 | 565 | 1,067 | 13 | 1,645 | \$2,056.25 | \$41.58 | \$2,014.67 | 0.70 | \$1,410.27 |
| | | | | | | | Entity Tota | l: | \$1,410.27 |
| | | | | | | | Adjustmer | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,410.27 |

Jackson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------------------------------|-------------------|------------------------------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 556 | 840 | 11 | 1,407 | \$1,758.75 | \$34.91 | \$1,723.84 | 0.70 | \$1,206.69 |
| | | | | | | | Entity Tota Adjustmer Total Amo | nt: | \$1,207.57 \$0.00 \$1,207.57 |

Jerauld

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 729 | 1,295 | 14 | 2,038 | \$2,547.50 | \$50.80 | \$2,496.70 | 0.70 | \$1,747.69 |

| Entity Total: | \$1,748.57 |
|---------------|------------|
| Adjustment: | \$0.00 |

| Total Amount: | \$1,748.57 |
|---------------|------------|
| Total Amount. | ψι,/ το.ο/ |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|--------------------------|-------------------|----------------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 468 | 695 | 4 | 1,167 | \$1,458.75 | \$29.70 | \$1,429.05 | 0.70 | \$1,000.34 |
| | | | | | | | Entity Tota Adjustmer | | \$1,001.22 \$0.00 |
| | | | | | | | Total Amo | | \$1,001.22 |
| Kingohum | | | | | | | | | +-, |

Kingsbury

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 2 | 3 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 2/2022 | 994 | 3,909 | 80 | 4,983 | \$6,228.75 | \$142.58 | \$6,086.17 | 0.70 | \$4,260.32 |
| 9/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 10/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 11/2021 | 7 | 0 | 0 | 7 | \$8.75 | \$0.00 | \$8.75 | 0.70 | \$6.13 |
| 12/2021 | 6 | 0 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| | | | | | | | Entity Tota | ıl: | \$4,283.08 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,283.08 |

Lake

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 5 | 10 | 0 | 15 | \$18.75 | \$0.00 | \$18.75 | 0.70 | \$13.13 |
| 2/2022 | 2,380 | 8,933 | 204 | 11,517 | \$14,396.25 | \$300.09 | \$14,096.16 | 0.70 | \$9,867.31 |
| 8/2021 | 8 | 0 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 9/2021 | 14 | 0 | 0 | 14 | \$17.50 | \$0.00 | \$17.50 | 0.70 | \$12.25 |
| 10/2021 | 13 | 0 | 0 | 13 | \$16.25 | \$0.00 | \$16.25 | 0.70 | \$11.38 |
| 11/2021 | 8 | 0 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 12/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity To | otal: | \$9,918.95 |
| | | | | | | | Adjustm | ent: | \$0.00 |

Total Amount:

\$9,918.95

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 14 | 27 | 0 | 41 | \$51.25 | \$0.00 | \$51.25 | 0.70 | \$35.88 |
| 2/2022 | 6,767 | 17,649 | 329 | 24,745 | \$30,931.25 | \$651.01 | \$30,280.24 | 0.70 | \$21,196.17 |
| 9/2021 | 18 | 0 | 0 | 18 | \$22.50 | \$0.00 | \$22.50 | 0.70 | \$15.75 |
| 10/2021 | 12 | 0 | 0 | 12 | \$15.00 | \$0.00 | \$15.00 | 0.70 | \$10.50 |
| 11/2021 | 14 | 0 | 0 | 14 | \$17.50 | \$0.00 | \$17.50 | 0.70 | \$12.25 |
| 12/2021 | 14 | 0 | 0 | 14 | \$17.50 | \$0.00 | \$17.50 | 0.70 | \$12.25 |
| | | | | | | | Entity Tota | al: | \$21,282.80 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$21,282.80 |

Lincoln

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 5 | 41 | 0 | 46 | \$57.50 | \$0.00 | \$57.50 | 0.70 | \$40.25 |
| 2/2022 | 3,293 | 24,055 | 1,586 | 28,934 | \$36,167.50 | \$830.55 | \$35,336.95 | 0.70 | \$24,735.87 |
| 9/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 10/2021 | 8 | 0 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 11/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 12/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| | | | | | | | Entity Tota | al: | \$24,795.38 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$24,795.38 |

Lyman

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 960 | 1,800 | 386 | 3,146 | \$3,932.50 | \$83.70 | \$3,848.80 | 0.70 | \$2,694.16 |
| | | | | | | | Entity Total | : | \$2,695.04 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,695.04 |
| Marshall | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 2/2022 | 1,368 | 2,897 | 72 | 4,337 | \$5,421.25 | \$118.83 | \$5,302.42 | 0.70 | \$3,711.69 |
|--------|-------|-------|----|-------|------------|----------|---------------|------|------------|
| | | | | | | | Entity Total: | | \$3,711.69 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | it: | \$3,711.69 |

McCook

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 1 | 12 | 0 | 13 | \$16.25 | \$0.00 | \$16.25 | 0.70 | \$11.38 |
| 2/2022 | 1,781 | 4,269 | 77 | 6,127 | \$7,658.75 | \$156.23 | \$7,502.52 | 0.70 | \$5,251.76 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 11/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 12/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity Tota | d: | \$5,266.66 |
| | | | | | | | Adjustmen | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$5,266.66 |

McPherson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|--------------------------|-------------------|----------------------|
| 1/2022 | 0 | 3 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 2/2022 | 867 | 1,514 | 7 | 2,388 | \$2,985.00 | \$70.51 | \$2,914.49 | 0.70 | \$2,040.14 |
| | | | | | | | Entity Tota Adjustmer | | \$2,042.77 \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,042.77 |

Meade

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 5 | 27 | 0 | 32 | \$40.00 | \$0.00 | \$40.00 | 0.70 | \$28.00 |
| 2/2022 | 2,653 | 18,418 | 188 | 21,259 | \$26,573.75 | \$551.45 | \$26,022.30 | 0.70 | \$18,215.61 |
| 9/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 10/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 11/2021 | 6 | 0 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 12/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |

\$18,261.12

Adjustment:

Total Amount: \$18,261.12

\$0.00

Mellette

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|------------------------|-------------------|----------------------|
| 1/2022 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 551 | 727 | 6 | 1,284 | \$1,605.00 | \$31.97 | \$1,573.03 | 0.70 | \$1,101.12 |
| | | | | | | | Entity Tot Adjustme | | \$1,102.87 \$0.00 |
| | | | | | | | Total Amo | ount: | \$1,102.87 |

Miner

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2022 | 900 | 1,660 | 25 | 2,585 | \$3,231.25 | \$67.36 | \$3,163.89 | 0.70 | \$2,214.72 |
| | | | | | | | Entity Tota | l: | \$2,214.72 |
| | | | | | | | Adjustmer | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,214.72 |

Minnehaha

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|
| 1/2022 | 15 | 104 | 0 | 119 | \$148.75 | \$0.00 | \$148.75 | 0.70 | \$104.13 |
| 2/2022 | 36,221 | 154,000 | 5,010 | 195,231 | \$244,038.75 | \$5,154.22 | \$238,884.53 | 0.70 | \$167,219.17 |
| 9/2021 | 19 | 0 | 0 | 19 | \$23.75 | \$0.00 | \$23.75 | 0.70 | \$16.63 |
| 10/2021 | 11 | 0 | 0 | 11 | \$13.75 | \$0.00 | \$13.75 | 0.70 | \$9.63 |
| 11/2021 | 18 | 0 | 0 | 18 | \$22.50 | \$0.00 | \$22.50 | 0.70 | \$15.75 |
| 12/2021 | 13 | 0 | 0 | 13 | \$16.25 | \$0.00 | \$16.25 | 0.70 | \$11.38 |
| | | | | | | | Entity Tota | I: | \$167,376.69 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$167,376.69 |
| Moody | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-----------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 3 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |

| 2/2022 | 1,125 | 4,655 | 135 | 5,915 | \$7,393.75 | \$175.56 | \$7,218.19 | 0.70 | \$5,052.73 |
|--------------|-------|-------|-----|-------|------------|----------|---------------|------|------------|
| | | | | | | | Entity Total: | | \$5,055.36 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | t: | \$5,055.36 |
| – • • | | | | | | | | | |

Pennington

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|
| 1/2022 | 19 | 104 | 0 | 123 | \$153.75 | \$0.00 | \$153.75 | 0.70 | \$107.63 |
| 2/2022 | 21,889 | 83,659 | 2,686 | 108,234 | \$135,292.50 | \$2,791.64 | \$132,500.86 | 0.70 | \$92,750.60 |
| 8/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 9/2021 | 18 | 0 | 0 | 18 | \$22.50 | \$0.00 | \$22.50 | 0.70 | \$15.75 |
| 10/2021 | 17 | 0 | 0 | 17 | \$21.25 | \$0.00 | \$21.25 | 0.70 | \$14.88 |
| 11/2021 | 19 | 0 | 0 | 19 | \$23.75 | \$0.00 | \$23.75 | 0.70 | \$16.63 |
| 12/2021 | 22 | 0 | 0 | 22 | \$27.50 | \$0.00 | \$27.50 | 0.70 | \$19.25 |
| | | | | | | | Entity Tota | al: | \$92,929.12 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$92,929.12 |
| Perkins | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 1,623 | 2,184 | 12 | 3,819 | \$4,773.75 | \$104.49 | \$4,669.26 | 0.70 | \$3,268.48 |
| | | | | | | | Entity Tota | al: | \$3,269.36 |
| | | | | | | | | | |
| | | | | | | | Adjustmer | nt: | \$0.00 |

Potter

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 985 | 1,825 | 17 | 2,827 | \$3,533.75 | \$70.76 | \$3,462.99 | 0.70 | \$2,424.09 |
| | | | | | | | Entity To | otal: | \$2,425.84 |

Adjustment: \$0.00

Total Amount: \$2,425.84

Roberts

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2022 | 3,067 | 5,192 | 31 | 8,290 | \$10,362.50 | \$230.72 | \$10,131.78 | 0.70 | \$7,092.25 |
| | | | | | | | Entity Tota | l: | \$7,092.25 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$7,092.25 |
| <u> </u> | | | | | | | | | |

Sanborn

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|--------------------------|-------------------|----------------------|
| 1/2022 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 2/2022 | 714 | 1,729 | 15 | 2,458 | \$3,072.50 | \$62.35 | \$3,010.15 | 0.70 | \$2,107.11 |
| | | | | | | | Entity Tota Adjustmer | | \$2,107.99 \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,107.99 |

Spink

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 1 | 2 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 2/2022 | 1,603 | 4,436 | 83 | 6,122 | \$7,652.50 | \$157.02 | \$7,495.48 | 0.70 | \$5,246.84 |
| 9/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 10/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 11/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| 12/2021 | 1 | 0 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity To | tal: | \$5,252.99 |
| | | | | | | | Adjustmo | ent: | \$0.00 |

Total Amount: \$5,252.99

Stanley

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 2 | 0 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| 2/2022 | 650 | 2,183 | 69 | 2,902 | \$3,627.50 | \$78.43 | \$3,549.07 | 0.70 | \$2,484.35 |
| 8/2021 | 3 | 0 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 9/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |

| 10/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
|---------|---|---|---|---|--------|--------|---------------|------|------------|
| 11/2021 | 4 | 0 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| 12/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| | | | | | | | Entity Total: | | \$2,503.61 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amount | t: | \$2,503.61 |
| o | | | | | | | | | |

Sully

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2022 | 548 | 1,156 | 4 | 1,708 | \$2,135.00 | \$43.71 | \$2,091.29 | 0.70 | \$1,463.90 |
| | | | | | | | Entity Tota | l: | \$1,463.90 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,463.90 |

Todd

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-----------|-----------|---------------|-------------------|---------------|
| 2/2022 | 0 | 111 | 4 | 115 | \$143.75 | \$13.61 | \$130.14 | 0.70 | \$91.10 |
| | | | | | | | Entity Tota | al: | \$91.10 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$91.10 |

Tripp

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|--------------------------|-------------------|----------------------|
| 1/2022 | 0 | 6 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 2/2022 | 2,071 | 3,990 | 33 | 6,094 | \$7,617.50 | \$156.25 | \$7,461.25 | 0.70 | \$5,222.88 |
| | | | | | | | Entity Tota Adjustmen | | \$5,228.13 \$0.00 |
| | | | | | | | Total Amo | | \$5,228.13 |
| Turner | | | | | | | | | φ υ,220.13 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 3 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| 2/2022 | 1,872 | 6,311 | 31 | 8,214 | \$10,267.50 | \$209.94 | \$10,057.56 | 0.70 | \$7,040.29 |

| Entity Total: | \$7,042.92 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$7,042.92 |

Union

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 5 | 6 | 0 | 11 | \$13.75 | \$0.00 | \$13.75 | 0.70 | \$9.63 |
| 2/2022 | 2,416 | 11,300 | 558 | 14,274 | \$17,842.50 | \$443.77 | \$17,398.73 | 0.70 | \$12,179.11 |
| 9/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 10/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 11/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| 12/2021 | 5 | 0 | 0 | 5 | \$6.25 | \$0.00 | \$6.25 | 0.70 | \$4.38 |
| | | | | | | | Entity Tota | al: | \$12,206.26 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$12,206.26 |

Walworth

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 0 | 8 | 0 | 8 | \$10.00 | \$0.00 | \$10.00 | 0.70 | \$7.00 |
| 2/2022 | 1,701 | 3,524 | 298 | 5,523 | \$6,903.75 | \$140.48 | \$6,763.27 | 0.70 | \$4,734.29 |
| | | | | | | | Entity Tot | al: | \$4,741.29 |
| | | | | | | | Adjustme | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$4,741.29 |

Yankton

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 1/2022 | 13 | 6 | 0 | 19 | \$23.75 | \$0.00 | \$23.75 | 0.70 | \$16.63 |
| 2/2022 | 4,504 | 16,453 | 491 | 21,448 | \$26,810.00 | \$568.15 | \$26,241.85 | 0.70 | \$18,369.30 |
| 9/2021 | 14 | 0 | 0 | 14 | \$17.50 | \$0.00 | \$17.50 | 0.70 | \$12.25 |
| 10/2021 | 15 | 0 | 0 | 15 | \$18.75 | \$0.00 | \$18.75 | 0.70 | \$13.13 |
| 11/2021 | 10 | 0 | 0 | 10 | \$12.50 | \$0.00 | \$12.50 | 0.70 | \$8.75 |
| 12/2021 | 17 | 0 | 0 | 17 | \$21.25 | \$0.00 | \$21.25 | 0.70 | \$14.88 |
| | | | | | | | | | |

Adjustment:

Total Amount: \$18,434.94

\$0.00

| TOTALS | 185,274 | 615,611 | 20,106 | 820,991 | \$1,026,238.75 | \$21.667.05 | \$1.004.571.70 |
|--------|---------|---------|--------|---------|----------------|-------------|----------------|
| IVIALO | 100,214 | 010,011 | 20,100 | 020,001 | ψ1,020,200.10 | Ψ21,007.00 | ψι,004,011.10 |